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FIBHR:

e FAMFAM P ALY BB TR EF R Foth 2,
s FALMBABAKFEN TR . BRAEFRPAYRLBE S,
o F A4 F Python B EHAUHEZN , TRABAVEARLT TR F %,

5.1 EBHHEXSAH

PR R K — BOACRS B B i 44 L 72 44 R 22 U8 Tk B AR 10— Fh AL BB AR
- fiiy 4 (19 2 FEFR S PRBCE S 48 LAY 44 Bk fei ) pR BOAURS 1) 3 A2 7 O e K0 . Python
B2 TEE AF T — b R, X 2 R K073 ) B P9 B A v R s =0T SR R T R
N BUE CREC, T3 — 7 T BT T LURYE BT A 55 B 25, FIH Python B9 eR BUE AL
il A O B R PR A SE SRR

7 FH PR R AT R PP BT 09 05 i B O B AR B 1 O 1 0 S B R A I A SR A . S
(1 [ LT 42 i A L 2R DR XEE & AT LA ] 050 i S D AR T 157 B 18 1 [ G 2R [ AU R L
B A T LAAR S o3 ik o L) 1 TR 05 7 B SR i L g R OR e o 1 TR A SR i £ QA 2
Gt J3 PR RO TR EASE TR 28 v A P ) R RSO AR RO R sl 2 7, AT L 4 2 e ok L 2% ik phe T i
TS 2 B R, bR KPR 2 AN W i T G R A B R A O i B 25 R L AR ) i
B 5 T L fe P R ORI ) AR AR IR AT SR P4

A P Al B AR PP BT D7 1 9 A R A S R A ) R R A i ) A G B
G figk 1] AR AR 5 22 AT 8t A 20 A 1 TR 75 B AR Al s A D RE . T TR — DR i

m!

ZE%%IC&:m’*C& ATV R 3 KRB 3 m!in! Al(m—n) ! F1A]

Wk e, HE kRS T k! = 1X2X3X e XKk, X ADAANRDIETC ENH it iHE
J7 ¥ IR man. m—n B9AE 20 SR 25 & 50 RT LAA IR ARE B9 AR RS 20 1SR % 3 AN [y
P, BRJG MR BRIZE T AT LR AL A% Co o T 7 )8 D AR 2 AR G 10 ST 19 SR B S 1 7
I*) 70 st o PRSI P AR SR 3 UL 0 SRR ] S i 18 4 0 a3 BE AN ) R DU vk
L KR R Ry K (] A 2 7 RO T D ] Y B AR D R L BT T R )



TR B AT AFAE 3 X R B e AR A 5 1 A ek BT DR IE AR RS % R L R —
WAL Z WA, SRB R R BT A& R0, Hifb b g % @ 3], bk,
Python 7£ math FR#E FEBIE T BRI T e LR L factorial,

5.1.1 BB E X

FAE 3K [ 36 1Y) R B30 2808 e 20 E SCHIL R
Python & SR B9 T8 2 AL 40 R

def <M &> (TBXSHIIE) :
< PR A >

< BRVBOR > S 5 WA X gt ST 3 A RS BE L << pR B4 > 2 1 AR B s O A 44 R
R BT AR RAT A N, RS N RIE SR TS IRRESHRTUA
WX B PR AR B 2SI LGE S0 k. BB S8R — AR L RS
A BRBURZIIN TR 5 E . B 248 i 0 (E 76 8 FH oR B 4R 4IE , BOCA SE PR 240, S S 7 1A
BRI BT 25 T A 25 X A B I S48 B XA i BRI S UGk . def (R FERIE 5 OANBE
AW PR BOUR B AT AR T B 4 1 AR TR A9 07 BB BT B SR 18 B return 15 ) B AR
i) 4 R0 & i S5 — A7 R S E5 O, RS R, 29154 return J5 B9 38 3% 20 50 {7 1% (9]
I8 T A N ek RS SR AT TC M B9 return 347 o R B 19 B 5 — AT, £33 8] None {8
(T EE R

(B 5-11 A& LHrofe ki g, KA G %0 Ch .

B E — K B T i) pR 4L

#1liti5-1-1.py
def factor(k):
f=1 55 AT

for 1 in range(1,k+1):

f=fx*1
return f
factor(6)

B BITERMT .
720

factor 42 H & SCHYK B o€ (1 bR B 44 55 2 A7 PR 3 return {J2 BRI . 1R BRI T R SR
K BB T IE AT B AR B £ AL return 3 A) Q0B E B 1 AQ VR Ay bR K SR 30 T 443 98 1 2 L
2 k W AR I rhy R O P25 08 PR IS LA S 200 A i i R 119

factor(6) X — AT IR FRIF 19 FAZ T o0 M LL T R BA B A W A 4 k. 6 2502 A7 R
BRI 2L RS ko 720 & B AT 25 2R . 2R 10l 4 43000 0 1w

THGERA G CL BT B8 BOE GBI AR R B BT

% 2%

%Fﬁ
o
o
®
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#1iti5-1-2.py
def factor(k):

f=1

for 1 in range(1l,k+1):

f=fx1i

return f
m=int (input ("THHA m BI{H: "))
n=int (input ("EHA n BIE: ™)
c=factor(m) //(factor(n) ¥ factor (m-n))

print("C({}, {})={}".format(n,m, c))
BIF BT RWT .
EHA mBE:S

THH A n fI{E:3
C(3,5)=10

HICHATRR T P A R ECE X Ar S def, A2 B PR BT 4 factor, H AN 2 $0 AT factor PR
T, HAE AT BV S 09 0 TR BIECE 2 17 IRE #/E b L factor (m) L factor (n) #l
factor(m—n) 235 LSS 2 mn.m—n ¥4 JH BRER factor, 8 1T A9 I P 2 2 T (8045 4 A i 3%
KB B PATIF AT A3 B E5 R B & oo &G print BREUEIR o, B8
IR formatO FEME R FZHFBR"CH Y {(H={}"&E, BP RIS R A
(slov) s HIPR & & formatO J7 5 v XF A7 B 5 28 1Y B r B A% =X, R B, format (1)
% nom.c WESHENUT BB B 3 DA E

5.1.2 BT S5k 0]

CLE I Y o5 500 B A AT o A 0 o R BB AR [T AN B B, 2 RE SCI Y o T
AR 22 08 P A R T 2 2% (] AN (] F) e 2 2R o e BB 0 8 A S R

<HREA > ([<FERRSHEIIER>D)

<SPR BRI > 1 BB A B BRBUE T BT XS B A Bk R L B AIE AN B
SRR R LIRS HUE . SRS HIE AT DUR A R B S HUL i &
B SLPR S BOT 5 WA 25 X B B S AR

Fok XA B B T LB AR R RSB R — 18 5, R BGR WEAE Ry is 54 R 2
Y2 H5RENWT LB 5B, REHFE N TR S 80508 R 8 FR o B 2 &
1B 40, print (factor (6)) , 55 98 factor (6) o8 %, 15 3 (0 45 B A4E b sc 218 £ 98 H
print PRAL ,

ORI B0 FH 1) 5 SR PR Ay R B0 AR TR A bR oK OO TP Y return B AT B AL, return B A Y
(I

return [<ZRFILK>]

)
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return 15 0) 23 45 o pR B0 HT L 8 << R R IA X > AR pR B A 1T, 3R (el E ]
DLJE 87 B 0 (B, QR0 A 5 VR R AT AT DU A SR R oT 4 5 R AE L IR AT
PAJE Python X4, WM pR BN R ERIX R BRI LA,

i 40 -

return max & [ A & R EOT 4 max,

return int 3% [ A2 R NT L int,

return 3,4,5 R [FIAYZICH (3.4,5),

return 3% [ {9 72 25 X R None, 1% [7] None i 75 %A & [FE

BREUA T AL & 24 return i8] 8 B ATAE T4 6] 19 S04 T 42 | L 2 AT B0 Hrp —
A~ return 15 A) I, oREC R 23 45 0, TR X return WA I <<Z5 R IX X >H91H.

(6] 5-2] %5 RECK—It IR ax’ +bx+c=0 B,

—IJC DT FERRAT 3 IGO0+ AN AN AH S5 1) 52 BOR , — A SRR AN G S RO . i
W HIWT A=b* —dac WERZRRTHF G TEEZ/NTE ORI EZMMEL . 5%k
WF REL abc VB REIE S8 L1 IR T3 SR 408 R 80 L pR 844 € O rootolqe,

#1iti5-2.py

def rootofqge(a,b,c):
d=b*b-4*xaxc

if d>0:

return (-b+d**0.5)/(2* a), (-b-d**0.5) /(2 * a) 35 7 7 AN R 45 Y S B0
elif d==0:

return -b/ (2 * a) #3R Al — > 5
else:

return None #3& [0l None, F /i JG 3 Bt

a=int(input("iﬁ§ﬁﬁ/\ a E/‘J{E :"))

b=int (input (" A b BI{E: "))

c:int(input("i%:ﬁ?/\ C E/Jﬁ :"))
(

print(rootofge(a,b,c))

FEFFIB AT 4R IE

EHA a E: 2
A b BE:5
HHIA c HI{H:3
(-1.0, -1.5)

RMAF LS HRE TR AR .

HHA a A1
TERIA b I{E : 4
HHIA c W : 4
-2.0

PRALTE SRR L 2 =R RT I A R IR
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THRIA a B :2

A b O 4

THHA c 1A : 4

None

7 19 2 4538 43 18 FH PR B rootofqe JF B 7 45 3L, 245838 43 Z 1 /& rootofqe BREL MY &2
SCRHS 3 o 33 Fof 5 5 00 S 06 200 A A 4T B o6 230 56 TE ST R A L 5 00 2 TR 4k R 31 o 50T 9
FH R .

rootofqe W PREAR I BL T 3 A return & 4], $24L T 3 R A [A] 4% &0 F 1Y o K &%
WA d RTFER ETENTER, S R A AT B2 B354 W 1 return 35 ), 4
Sl B AL AR AH 55 1) S BRI B L TT S B 3 R LT B SR A 2

2% d ANF NG GLET AT I AR R B S 9 " else: S TG return 3R], 3R [ E 2
None, RN TLLEF . W1 return J5HIAS None {8, 3805 LBk "else: " J5 X F AT AE
BRI KL i Ak B TG S BRI 9] None fH

o1 B itk £ )R H AR Y R

1. BEFHRERAH

FE— A bR BB bR B R pRBCRR M R B i E R i B AT DA 2 2.
K 5-1 R o

5.1.3

%L a K%L b %Y c
10) IGY) @
@ ©) (€)) /
AL b VA ERER ¢
6
ZEf ©

B 5-1 )2 R R S T £ 5 7

K 5-1 B BREUE R/ )2 . PRECa A T sREL b, pRE b I T BRE . ST
FEanE R B TR . PR a PR T PR b I, D625 R BRE b IR T 45 SR A BE AR P A B 4k
SEIRAT » PR a BT A5 PRAT AL B FR 4 7 5 (breakpoint) , B4 a B (1] 8 TR S S — B
PRFFAAS . Y eR%L b A R ¢ B, R A AR IR AR S 1, B2 R ¢ 98 45 R 5 3R ]
SARSEIAT . M PREL a PSS AT, S 8 I Ak S BT A I R R R R 2
JZ1 NG B R B H

(6 5-31 eREiE T R,

#1iti5-3.py

def c():

print("In c")
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def b():
for j in range(3):
print("In B j=",3J)
c()
def a():
for 1 in range(2):
print("In A i=",1)
b()
a()

BEFFIB T4 R IT

InAi=0
InB j=0
Inc
InB j=1
In c
InB j= 2
In c
InAi=1
InB j=0
Inc
InBj=1
Inc
InB j= 2
In c

PR a PRI T P IR PRER b, pRER b TEIA I T 3 IR PRI . PRER a BRI H PR &R b
I, PR b AR B 3 KRR ¢ A BEIR [, AR AT AR, R ¢ Bt RE T
6 UK. B REL b B pR AL o B AR D IR R B a TR EL b R AR L L I E ST
PP T I B PR R A, S5 29 H eR 2 b o R AR ¢ 3R T , pRES a FIRRER b 23l FH AR it
i Ak EE AT .

PRI Y AR AN 25 VBB AR R (A ANAE , B R pR A b B A, LN BB Y A8 i j AR
B, TS5 AR AR B 5 25 A S BR L XA R O AR AR AR AR R A TR A A 2 A
B2 . T E R ) R AT R AR B S TR AE AR AR L AR AR R AR R AR a
B . RO AR SR AT — AR BV A T AE AR D AR OB MR AR g
BESI L B, s b ASRES | R a HP A A8 58 1, 728 s 03 5 | P 1 LAy B ) R Sy 72 2 )
YERIHE . Python "% AR fEA5 A ] 09 A= A7 B ANVE 3L 76 5.3 W S 3E4EA 41 .

(6] 5-4) %5 RH A% C RS,

HAK C B AR T B 3 pR Y factor, ML AR BT A B WES WS Mok
B DMEAE R o] B EB R, AR e X ANTE XS H mon, RSN

combin,

#1itis-4.py

123



def factor(k):
f=1
for 1 in range(1,k+1):
f=fx1i
return £
def combin(m,n) :
c=factor(m) //(factor(n) ¥ factor (m-n))
return c
m=int (input ("M A m {E: ")
n:int(input("iﬁﬁsﬁf\ n EI/J{E :"))

print("C({},{})={}".format(n,m, combin(m,n)))

FRIFBATA R .

WA m M{E: 6

WA n B : 4

C(4,6)=15

i 5-4 R T R E P T B 7 v . R 9 4RI 3 98 ] R combin H L B &5k
Ja B X T BR%X factor MER%L combin, ¥4 PE4L combin A 443 3 % & 18 FH pR 4X factor,
53] 3 B RAE )T FRAESE AT BB combin, i IS R4 A5 505 . B3 combin 45 W
JFKe 25 B3R 0] 3] 4288 77 Ak e AT B2 7 ik =X R 245 RS 45

RRVBICL 201 S S R S B 51 5-4 H ) pRER factor F PR combin A 8 SV B 4,
NG P (AT WK PREX factor BX PR4L combin M 8 U TE R F 2 5 . W R
JT 25 DR AN 380 o 500717 08 FH 1 4

2. HHE T E A

— A~ BREICTE PR RIS TR R S R P 2% pR B B B0 R AR O R T . T AR A U 9
I, bR B2 AN Wi B VR TR R . PRI L 3 U R RO DA i R B i A B
ZEAE o 2 2% A A U 3t DR R 4 2% P A T A U R RS P S R R A RO R ] | —
JZ . KR 22 R E R U TR RE I8 )2 45 ORI 81, 9 G R A RE I R A R

(6 5-51  S5IHH S= D1 MK,

#1liti5-5.py
def sum(n) :
if n==1:
return 1
else:
return sum(n-1)+n

print("1+2+-+{}={}".format (6, sum(6)))
FEIFIBATE SR T .
1+2+--+6=21
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sum(6) BT H S R A A 5-2 Fioi

PATsum(6), EF P ATsum(5), EF] PATsum(4), EF PATsum(3), EF
return sum(5)+6/ . return sum(4)+5I . return sum(3)+41 . return sum(2)+3/f
e e B4y 4y

4

[ #sum(3), 4k&: [ #sum(2), 4ksk PATsum(1), EH PuATsum(2), iEH
T return 3+3, ‘ P ATreturn 1+2, ‘ return 1 45 AR ‘ return sum(1)+2/t}

SR TR M6 S0 iR M3 AR A it

L 4

[FFsum(4), 4ks: [F]Fsum(5), 4ksk [P E]sum(6), 4k%E
AT return 6+4, . AT return 10+5, » AT return 15+6,

ST A 10 S If iR Ml15 SR IF iR R121

Bl 5-2  sum(6) Bk A8 H g e

PR sum A8 H 2 A A FBR G182 n 558 T 1 WA IH, BHERBIEE R 1, F4RH55
W T sum(6) 5 2R [ 21, sl 1+2-+3+4+5-+6 M4 R, ARG e as X B oR &5
RIGHERFET .

[ 5-6] #5iH5H S=n! K%L,

n! KRR n BRI, B afe A — i s 5 P ot

- (n—D!'Xn n>1

1 n=1
AT DA A 32 1 o L 42 SR B A A 38 U pR A,

#1liti5-6.py
def fact(n):
if n==1:
return 1
else:
return fact(n-1) *n

print("{}!={}".format (6, fact(6)))

BIFBITHRINT .
61=720

o P e 1 a2 V1 mT LA D e MR 5 3 U1 o 5 A A A Bl T L A 3 U1 R RS
SC T Al 3t U BRI RS RS B TR 328 U1 R S T LA 3R s Sy — A ey adk R L 4 451
5-5 119 13 I o B A4 K 3 A SR
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n+“2i n+*1

M= &
B 1 n=1
A XA B 2T DU G PR AR R RS e 1 B n B ATRT DI T B n—1 B AT
nf3 3,
M — A S PR A B i 0 SR AT DA R A 4 o 3o U pRBK
(5] 5-71 2 GoRALEECh ik I pREL.
TEA GBI B A —Fh el 38 Sy Be sk 5
B Cr i +4C:y m>n H n>0
B 1 m=n 8 n=0
A AR 45 3 o 52 2ok 51 bR A 4 Sy S A0 10 388 0 eROBORR Ty LATHSR 2 5 4

#1iti5-7.py
def combin(m, n) :
if m==n or n==0:
return 1l
else:
return combin(m-1,n-1)+combin(m-1,n)
m=int (input ("THEMA m B{E: ™))
n=int(input("iﬁ$ﬁﬁ/\ n E"J{E :"))
print("C({},{})={}".format(n,m, combin(m, n)))

EFIs AT 4RI

A m M7
WHHEA n B3
C(3,7)=35

5.1.4  BREM AR SR A

1. g = E

PRBCIA AL 5 55— BREHY 52 SO R BB R B TE X, N2 B SCHY BREUTE SM )2
BRI RO FH I i S BB AMZ s EOR A AN REAE AN R R B Z AME T . SN2 eRE0RT LUK
PN PR B4 A D 3R (R 38 P A1 2= e B AT AR A5 O 98 PN )2 BRI 2 BR BRI
HMZ BREIAE T — T o N 2 eR RO 55 1) AR A0 Z eR BO0E 9 A8t A AL T A A7 3R] LA
BN JZ BRBC T SR S AR B3 3 R IR A R B G IE A X R AN R Z*ﬁﬂm{/\
TARZS (BB g Y= pR B B B 2 080 g Bk O P AL . B IR T A 2 o8RO A 23 38 (0] — > Py
JZRREL I 2 AR AT N R RO B — AR R AL, R A N E R 2 1R
AL A s ST
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(51 5-8 4l ek % b A A6 25 ) - P AT R L b

#1iti5-8.py
def a():
def b():
return i
i=0
return b
c=a()

print(c())
RFHETER T .
0

e 5-8 H L AMNZ R a ik B8 LT — A W2 RE b, IF H¥ s B b 1E iR A,
R X EAZHHRE b, b JF AR —XT R $E S . R A2 R o, 15 319
GERIENZ R b TRE A AR i o J5 i o o sRECE it A AN Z PR BT a B EE T N2 R
B b T m a2 ], N2 R AL b aR Y A8 & 1 E Rk A, XM, &
PR P R PR ¢ SEBR B2 M H N2 R b, N2 pR AL b 1938 17 45 R 2402 A 2 ()
g i M 0 f A R T MR 45 5L 0 R 4G

Ao SR MNZRE a HE XL T UE N2 ER RE b P . S EEEF A
PREL a B, 25 3R 0] 9 2 R b I A AT s ) X B L AR i 1 gl OIREAE TRz
HZERBAS i o A7, S Ml S A7 B 1 Wt — B AETE, v LIRS 8% N2 R 2L b
P At H

N 2% 1Y PR BN BEXT A1 2 R E0E U AR s AT B 0. PR b o] DL A2 1978 & i
MIME EAREXS 1 WU . Python L, WAE S X228 & 098 L. a0 R pR L b X248 & 1 TR
B, SEB AR b PR L ANZ R a RS & L RAETE, SINZRE b
SR AR i [ A AH IR R A — AN S SXET BRI b A R AR M AR G O B Rl
FHAMZ AR & i, ZEahk G sR %L b PR R AR 38T 8 S — A8 i 1, A DL7E PR b Hp s B AR
1 AYEFIR M nonlocal , X FE, REL b B A8 2 1, o BB AN 2 28

2. Eimss

e 7% (decorator) J& — P& B E AT BRI 53k {1 FH 0% 2 pR B P AL R, R R 18
i . ANZEREGE Y S 5] A ZAE SR SR 78 P92 R R R S0 O 2 % R A
X bR BR8] B 235 SR RN TS AR A TN 2 pR B 5 SR AR [l 38 2o P AL B R ORE P 2 R AR I 4
G L RS R IE S 51 A B pR B A F0 L X B, P2 eR BORT LR R XTI 2
R A — T A6 B A 0

[60 5-9Y 45 315 Jr 22 1t BRI K, T30 3ok 5 40 ke 305 A v 22 PR B

JPEMTSEATE D=1 3 G — 07 X R AR I 2 D BT,

Es5E WK
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